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AKNA HIGH SCHOOL (H.S.)
First Summative Evaluation-2024

Class-V Full Marks-10
Subject-English Time-20 Mins
Name Roll No. Sec

1. Read the text carefully and answer the following questions :

At 11:30 a.m., Hillary and Norgay reached the summit of Mt. Everest. Hillary
reached out to shake Norgay’s hand, but Norgay gave him a hug in return. The
two men enjoyed only 15 minutes at the top of the world because of their low
oxygen supply. They spent their time taking photographs and enjoing the view.
Norgay placed a food offering to God. When their 15 minutes were up, Hillary
and Norgay made their way back down the mountain.

A. Tick (V) the correct answer : 1x2=2
i)  Hillary and Norgay had low supply of —

a) Nitrogen b) Oxygen c) Carbondioxide
ii) Hillary and Norgay stayed at the top for —
a) 10 minutes b) 20 minutes ¢) 15 minutes

B. Write ‘T’ for True and ‘F’ for False statements : 1x2=2

i)  Norgay placed a food offering to the devil.

ii) Both the men enjoyed taking photographs.

Grammar
2. A. Classify the following words into Common Nouns and Proper
Nouns : 1x2=1
The Everest, Pencil, Train, The Ganga
Proper Noun Common Noun
B. Write appropriate articles in the following blanks : 1x4=2
Onceupon_— time, therelived _—__ antand
grasshopper in grassy meadow.
Writing
3.  Write a short paragraph about ‘Your Parents’ or ‘Your loving pet. 3



AKNA HIGH SCHOOL (H.S.)

First Summative Evaluation-2024

Class-VI Full Marks-15
Subject-English Time-30 Mins
Name Roll No. Sec

1. Read the text carefully and answer the following questions :

Bholenath was too frightened to admit his mistake. Every one looked questioningly
at Bholenath. In the meantime, the tiger, disturbed and confused by all the people, had
chewed through the rope. It ran away to the jungle. The villagers were relieved.

Bholenath now saw an opportunity to brag.

“It is I who captured the tiger last night. I even pulled its ears,” Bholenath announced
proudly. Everyone marvelled at his bravery. Soon the news of Bholenath’s bravery
reached the king. The king was highly impressed. He made Bholenath the Commander-
in-chief of the king’s army. Bholenath and his wife were given a huge house to live in.

A. Tick () the correct alternative : 1x3=3

i)  The tiger had chewed through the —
a) bag b) rope ¢) sack

ii)  Bholenath pulled the ............ of the tiger —
a) claws b) ears c¢) nose

iii) Bholenath and his wife were given a —

a) house b) garden c) tree.

B. Write ‘T’ for True and ‘F’ for False statements : 1x2=2

i)  Bholenath was made the general of the king’s army:.

ii)  The tiger was disturbed by animals of the jungle.

Grammar
2. A. Doasdirected: 1x3=3

i) The fleet moves across the ocean. [Rewrite the sentence by correcting
the underlined word]

Ans:

ii) The rose is red but beautiful. [Write the anotonym of the underlined
word]

Ans:

iii) She has singing a song. [Rewrite the sentence by correcting the
underlined word]

Ans:
B. Make meaningful sentences of your own with the following words :
I1x2=2
i) Proudly —
ii) Tiger —



3.

ENG(vi)-2

Writing
Suppose you have experienced a wonderful boat journey. Write a paragraph with
in 60 words describing the journey. You may use the following hints. 5

Date — place of journey — duration of the journey — people who travelled
with you — best moments of the journey.

OR
Ratan Sen Kaveri Sen
(Grand father) (Grand mother)
Sudarshan L Kasturi SouravI — Ishani
(Driver) , (Maid) (Plumber)l(home maker)
| |
Rohan Pinky Tripti
(College student) (school student) (School student)

Suppose you are Pinky, a school student and Ratan Sen is your grandfather. Now
write a short paragraph in about 60 words using the family chart about your fam-
ily. 5

10



AKNA HIGH SCHOOL (H.S.)

First Summative Evaluation-2024

Class-VII Full Marks-15
Subject-English Time-30 Mins
Name Roll No. Sec

1. Read the text carefully and answer the questions that follow :

Birbal said, ‘Is that all, your Majesty? Call your courtiers together. Let us see
if one of them can answer. If not, then I am certain I can tell you of the fastest
thing on the planet’

At the King’s court, many heard the question that was troubling Akbar. Most
were puzzled. Some said, ‘bullock carts, others said, ‘horses, But Birbal just
smiled at them.

After everyone had failed to satisfy Emperor Akbar, Birbal offered to answer
his question. He said, “Your Majesty, it is the human mind!” To prove it, he said,
‘Let the people of our kingdom present a problem to me. I shall show you how
fast I can solve it using the powers of my mind alone”

A. Tick (v) the correct answer : 1x2=2
i) The fastest thing on The earth is—

a) bullock cart b) human mind c) horse.
ii) Birbal wanted to solve the problem by using the power of his—

a) legs b) mind c) arms

B. Write ‘T’ for True and ‘F’ for False statements : 1x3=3

i) Only one man had failed to satisty Emperor Akbar.

ii) Akbar was deeply troubled by a question.

iii) Birbal was confident to solve the riddle.

Grammar
2. A. Fill in the blanks with appropriate possessive pronouns and pos-
sessive adjectives : 1x2=2

i) Yesterday I forgot to take back pen from Sunil.

ii) That is school

B. Choose the correct form of verbs given in bracket : 1x3=3
i) They in the field. [was
playing, are playing, playing]
ii) I under a tree. [was sit,

am sitting, sits]

iii) They in the class [were

singing, is singing, singing]

11



VII-Eng(2)

Writing
Write a letter to your best friend inviting him to your 10th Birthday party.
5
OR
Write a dialogue between two friends on the experience of solving a

riddle. 5

12



AKNA HIGH SCHOOL (H.S.)

First Summative Evaluation-2024

Class-VIII Full Marks-15
Subject-English Time-30 Mins
Name Roll No. Sec

1. Read the text carefully and answer the questions that follow :

One day, he had been walking behind the plough. He all but ran over a tiny
green turtle on a clod of dirt. He picked the turtle up and set it on his head where
he knew it would be safe. When he was done with ploughing, Jon plucked the
turtle from his head. To his utter surprise he found that it had turned into a tiny

green-fairy man that stood upon his palm and bowed.
A. Complete the following sentences using information from the text :
1x2=2

i) Standing upon his palm, the fairy man ........cccccoeeevennnencncnennicicceneneeeaes
ii) Jon wanted to keep the turtle .........cccocovveeveeververrcnrneerereeeeneeenene
B.Tick the correct alternative : 1x3=3
i)  Jon put the turtle on his —
a) back b) head ¢) hand.
ii) Jon found that the turtle had turned into a —
a) big green fairy b) small black fairy c) tiny green fairy.
ili) The tiny green turtle was —

a) on the ground b) clod of dirt c) on the plough.

Grammar
2. A. Read the following sentences and identify the future continuous
tense and future perfect tense. : 1x3=3

i) She will have recited the poem.
Ans:

ii) Ishall be singing on the stage.
Ans:

iii) They will be visiting our hospital next month.
Ans:

B. Make meaningful sentences with the given words : 1x2=2

i) Tiny —

ii) Hand —

13



VIII-Eng(2)

Writing
Write a short paragraph on “Your Favourite Season” 5
OR

Write a short story using the following hints. Add a suitable title
Two friends passing through a forest — a bear came — one friend climed a
tree — other friend did not know how to climb — left alone — pretended to

be dead — bear examined closely — thought to be dead — went away. 5
Ans:

14
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AKNA HIGH SCHOOL (H.S.)

First Summative Evaluation-2024

Class-IX Full Marks-40
Subject-English Time-1 hour 30 Mins
Name Roll No. Sec

1. Read the passage carefully and answer the questions that follow :

One moonlit night, we were returning from a festival. The road was long and
foggy. 1 was riding on the village chowkidar’s shoulders. Suddenly, Bhola Grandpa
let out loud wail. Everyone in our party was surprised. We halted. Enquiry revealed
that Bhola Grandpa had taken his grandson to the festival. He had tightly held on to
the two fingers of the boy. He did not realize when those fingers slipped out. Bhola
Grandpa was continuing as before. Then someone asked Bhola Grandpa what he was
gripping. He remembered his grandson and let out a loud wail.

A. Tick (V) the correct answer from the given alternatives : 1x2=2

i)  Bhola Grandpa tightly held on to —

a) one finger[__|b) two fingers[ | ¢c)arm[__] iv) none[ _].

ii) Bhola Gradpa had taken his to the festival —
a)wife[ | b)son[__] c) grandson[__] d) grand-daughter[ _].
B. Complete the following sentences : 1x2=2

i) It was revealed through the enquiry that

ii) Someone in the party asked Bhola Grandpa

C. Answer the following question : 2x1=2
i) ~ Why did Bhola Grandpa wailed?
Ans:

2.  Read the poem and answer the questions that follow :

I love the fitfull gust that shakes
The casement all day,
And from the mossy elm-tree takes
The faded leaves away,
Twirling them by the window pane
With thousand others down the lane.
A. Tick (v) the correct answer from the given alternatives : 1x2=2

i)  The word, ‘others’ indicates —

a)trees[ | b) windows[ | c¢)lanes[ | d) fallen faded leaves|[ _|.

ii) The word ‘twirling’ means —

a) twittering[ | b) murmuring[___] c) whirling[ ] d) howling[ __].
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IX Eng (2)
Answer the following questions : 1x2=2

i)  What does the fitful gust do?
Ans:

ii)  What does the fact love?
Ans:

Reading Comprehension (Unseen)
Read the passage carefully and answer the questions that follow :

KOLKATA : The West Bengal Pollution Control Board (WBPCB) is monitoring
water and air pollution from 44 large scale industries which have been identified
as grossly polluting.

“We have identified them and warned them to be compliant after which
action could be taken against them as per the law”, said Kalyan Rudra, WBPCB
chairman. He said they have established a monitoring mechanism for measuring
emission, liquid and solid waste disposal for the industries.

The list of 44 most polluting industries includes those from the leather
industry, iron and steel, paper and jute.

Adopted from The Times of India, dated 03/01/2024

Tick () the correct answer from the given alternatives : 1x4=4
i)  The total number of identified industries is—
a)44[ | b)45[ Joy40[ ] d42[ ]
ii) The monitoring mechanism is set up for measuring—
a) sound pollution |:| b) wastes from the industries |:| ¢) productions
from the industries |:| d) none of the above |:|
iii) WBPCB is monitoring—
a) water and air pollution |:| b) soil and water pollution |:| ¢) sound
pollution|[ | d) only water pollution [ ].
iv)  Which of the following industries is not identified by WBPCB—
a) iron and steel industry[ | b) leather industry[ ] c) cottage industry[ |

d) paper and jute industry[ .
Write True (T) or False (F) against the following statements. Give your
supporting expression : 2x2=4
i) A good number of large scale industries have been identified for their

inadequate measure of pollution.

S.S.
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ii) Kalyan Rudra is the chairman of the West Bengal Pollution Control

Board.
S.S.
Answer the question : 2
i)  Why has the West Bengal Pollution Control Board set up a monitoring
mechanism?
Ans:
Grammar and Vocabulary
Fill in the blanks with appropriate articles and prepositions : 1x3=3
a moonlit night we started Darjeeling
train.
Do as directed : 1x3=3

i) My mother said to me, “May your dreams come true.” (Change into indirect
speech)

Ans:

ii)  The boy is writing a story. (Change the voice)
Ans:

iii) He is too weak to walk fast. (Write the type of the sentence)
Ans:

Given below are the meanings of two words which you will find in the passage
in Question No- 3. Find the words and write them in appropriate boxes.
2x2=4

i)  Accusation

ii) Removal of something
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IX Eng (4)
Writing
Use the following flow chart to write a paragraph within 100 words on how
to prepare orange juice. 10
Oranges bought from the market — sorted — rotten ones removed — cleaned
— peeled — put in juicer — juice extracted — sugar and preservatives added —
poured into bottles — sealed — ready to be sold.
OR

Write a letter to your friend within 100 words narrating your experience of
visiting a circus. 10
Ans:
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AKNA HIGH SCHOOL (H.S.)
First Summative Evaluation-2024

Class-X Full Marks-40
Subject-English Time-1 hour 30 Mins
Name Roll No. Sec

1. Read the passage carefully and answer the questions that follow :

Some days after the funeral, a special train took Gandhiji’s ashes to Allahabad. The
compartment was decked with flowers. People on the train sang bhajans. People did
not weep anymore for they could feel Gandhiji’s presence amid the flowers and the
songs. At every station sorrowful crowds filled the platform. Amid song and prayer the
train reached Allahabad. The ashes were immersed in the Ganges where a huge crowd
had gathered at the bank. Afterwards we all went back to Delhi.

A. Tick (V) the correct answer from the given alternatives : 1x2=2

i)  People on the train sang —

a) ghazals[__| b) folk songs[ | c) Rabindra Sangeet[ | d) bhajans[ _|.

ii) 'The compartment was with flowers.
a) decorated [ __|b) filled [ ] c) covered [_]d) loaded [ _].
B.  Write ‘T’ for True and ‘F for false statements : 1x2=2

i)  Gandhiji’s ashes were immersed in the Ganges on the next day after the

funeral.

ii)  The platform was filled with grief-stricken people at every station.

C. Answer the following question : 2
i)  Why did not people weep anymore?
Ans:

2.  Read the poem carefully and answer the questions :
The mountain and the squirrel
Had a quarrel:
And the former called the latter ‘Little prig,
Bun replied,
‘You are doubtless very big;
But all sorts of things and weather
Must be taken in together,
To make up a year
And a sphere.
A. Tick (v) the correct answer from the given alternatives : 1x2=2

i)  The mountain called the squirrel —

a) Little Bun[ | b) Little Prig[ ] c) Little Rabbit[ | d) Little Pit[ ]
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ii) What do we need to makeup a year? —

a) few things |:| b) all sorts of things |:| c) No things |:| d) none of the

above |:|

Answer the following questions : 1x2=2
i)  Was Bun arrogant in his reply?

Ans:

ii) Who had a quarrel with whom?
Ans:

Reading Comprehension (Unseen)

Read the passage carefully and answer the questions that follow :

KOLKATA : A rare strain of ‘Chinese Pneumonia’ -- mycoplasma pneumoniae
has been detected in a 10 years-old girl at the Institute of Child Health in
Kolkata. A resident of Bansdroni in South Kolkata, the child was admitted in
the Park Circus hospital on December 25 with complaints of mild respiratory
distress, fever and cough. On further investigation, doctors detected mycoplasma
pneumoniae at the cause of the illness.

It is referred to as the ‘Chinese Pneumonia since the country witnessed a
massive outbreak of the respiratory illness caused by mycoplasma Pneumoniae
in November last year. Doctors at AIIMS-Delhi came across this infection in
atleast seven patients, mostly children, a few weeks ago. The child at the Kolkata
hospital is responding well to treatment.

(Adopted from The Times of India) dated 07/01/2024

Tick () the correct answer from the given alternatives : 1x4=4
i)  The girl was the inhabitant of —

a) Delhi |:| b) Kolkata |:| ¢) Bansdroni |:| d) Park Circus |:|
ii)  The girl was first admitted at—

a) Delhi AIIMS |:| b) Institute of Child Health in Kolkata |:| ¢) Child

health care in Kolkata[ ] d) Medical College and Hospital in Kolkata [ |
iii) Minimum number of patients in Delhi, infected by ‘Chinese Pneumonia,

was— a) 7 |:| b)8|:| c)2|:| d)6|:|

Chinese Pneumonia infected mostly—

a) aged persons|:| b) women|:| ) children|:| d) doctors|:|
Write True(T) and False (F) against the following statements. Give the

iv)

supporting expressions / sentence : 2x2=4
i)  “Chinese Pneumonia’ broke out in our country last year to a great extent.
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X-Eng(3)
S.S.

ii)  The physical condition of the girl became stable to the treatment.
S.S.

Answer the following question : 2x1=2
i)  Inwhat physical condition was the girl in Kolkata admitted to the hospital?
Ans:

Grammar and Vocabulary

Fill in the blanks with appropriate articles and prepositions : 1x3=3
My uncle has given his entire property

institution.
Do as directed : 1x3=3

i)  Iam to help her. (Change the voice)
Ans:

ii) Iknow the boy. He helped you. (Join Using Adjective Clause)
Ans:

iii) He is too timid to protest. (omit too’)

Ans:

Given below are the meanings of two words which you will find in the passage
in Question No- 3. Find the words and write them in appropriate boxes.
2x2=4

i)  Not found very often

ii) Identified
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Writing
Write a letter to your younger brother (within 100 words) who lives in a hostel
advising him not to be addicted to the social networking sites as Facebook,

whatsapp, Instagram etc. 10
[Points : role of social networking sites — bad effects — effect on health — wastage

of time — your advice]
OR
Write a paragrph (within 100 words) on “A Journey by Train”. You may use

the following points” 10
[Place of visit — date of journey — name of the train — your experience in the

train — time of reaching — your feeling].
Ans:
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